					Engineer's Estimate		Complete General Construction (local)	
Ref.	Item		Т		3		· ·	,
No.	No.	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
21	1001	Foundation, Residential Post Top	13	EA	\$860.00	\$11,180.00	\$900.00	\$11,700.00
191	1001	Pole to be Wired	13	EA	\$224.00	\$2,912.00	\$100.00	\$1,300.00
91	1001	Fiberglass Lamp Post	13	EA	\$1,075.00	\$13,975.00	\$1,450.00	\$18,850.00
051-		Post Top Luminaire, Acorn Globe,						
MOD	1001	60W LED	13	EA	\$1,480.00	\$19,240.00	\$950.00	\$12,350.00
051-		Post Top Luminaire, Acorn Globe,						
MOD	1001	60W LED Stock	2	EA	\$1,480.00	\$2,960.00	\$850.00	\$1,700.00
		Conduit, 2-1/2", Trenchless						
125	1001	Installation	100	FT	\$38.00	\$3,800.00	\$47.00	\$4,700.00
		Street Light Circuit - 3 Wire (2) #4						
190	1001	+(1) #8	248	FT	\$12.62	\$3,129.76	\$4.00	\$992.00
194	1001	Trenchless 1-1/2" Cable-In Duct	1941	FT	\$11.40	\$22,127.40	\$12.00	\$23,292.00
4	1001	Pull Box, Medium Duty, 13"x24"	4	EA	\$435.00	\$1,740.00	\$850.00	\$3,400.00
			SUBT	OTAL:		\$81,064.16		
		CONTING	ENCY	(10%):	,			\$7,828.40
		GR	AND T	OTAL:	\$89,170.58		\$86,112.40	
		% DIFFERENCE FROM ENGINER	ER'S EST	IMATE			-3.43%	
		% DIFFERENCE WITHIN LC					n/a	
		(0) Addendum Ackldg					n/a	
		Contract				31-4366382 (9/14/17, MAJ, 6056)		
		Bid Proposal Signature Affic				n/a; signed by Chairman of Board		
Bonding Company (Form B2)							Arch Insurance	
Proposed Subs listed?							no subs	
Bid Affidavit Complete? (Form B9)							yes	
		Prime & (applicable) Subs Pre	qualified	to Bid?				yes

		,			Engineer's	: Estimate	Jess Howard Elect	ric Co. (not local)
Ref.	Item	D		TT *4	II '' D '	Б. (II '' D '	T. 4
No.	No.	Description Period Ton	Qty. 13	Units	Unit Price	Extension	Unit Price	Extension
21	1001	Foundation, Residential Post Top Pole to be Wired		EA EA	\$860.00 \$224.00	\$11,180.00	\$998.82 \$217.42	\$12,984.66
191 91	1001	Fiberglass Lamp Post	13	EA	\$1,075.00	\$2,912.00 \$13,975.00		\$2,826.46
051-	1001	Post Top Luminaire, Acorn Globe,	13	EA	\$1,073.00	\$13,973.00	\$1,200.20	\$16,721.64
MOD	1001	60W LED	13	EA	\$1,480.00	\$19,240.00	\$919.30	\$11,950.90
051-	1001	Post Top Luminaire, Acorn Globe,	13	LA	φ1,460.00	\$19,240.00	\$919.50	φ11,930.90
MOD	1001	60W LED Stock	2	EA	\$1,480.00	\$2,960.00	\$841.41	\$1,682.82
WOD	1001	Conduit, 2-1/2", Trenchless	 	D/ I	ψ1,100.00	Ψ2,>00.00	φοτιτι	Ψ1,002.02
125	1001	Installation	100	FT	\$38.00	\$3,800.00	\$65.53	\$6,553.00
		Street Light Circuit - 3 Wire (2) #4			40000	+=,=====	7 00 100	+ 0,000000
190	1001	+(1) #8	248	FT	\$12.62	\$3,129.76	\$6.46	\$1,602.08
194	1001	Trenchless 1-1/2" Cable-In Duct	1941	FT	\$11.40	\$22,127.40	\$15.82	\$30,706.62
4	1001	Pull Box, Medium Duty, 13"x24"	4	EA	\$435.00	\$1,740.00	\$755.29	\$3,021.16
			SUBT	OTAL:		\$81,064.16		
		CONTING		, ,		\$8,106.42		\$8,804.93
		GR	AND T	OTAL:		\$89,170.58		\$96,854.27
		% DIFFERENCE FROM ENGINER	ER'S EST	IMATE			8.62%	
		% DIFFERENCE WITHIN LC	WEST E	BIDDER				12.47%
		(0) Addendum Ackldg						n/a
		Contract		•	31-4405752 (10/18/18, MA			
							31 1103732 (10	· · · · · · · · · · · · · · · · · · ·
Bid Proposal Signature Affidavit Completed? Bonding Company (Form B2)					F. J1 I			yes Federal Insurance
			•					
Proposed Subs listed?					no su			no subs
	Bid Affidavit Complete? (Form B9)					y		
	Prime & (applicable) Subs Prequalified to Bid?							yes
							*Corrected Continger	ncy, Subtotal,
							Grand Total.	

			Engineer's Estimate		U.S. Utility Contractor (local)				
Ref.	Item		T					(2002)	
No.	No.	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension	
21	1001	Foundation, Residential Post Top	13	EA	\$860.00	\$11,180.00	\$1,022.46	\$13,291.98	
191	1001	Pole to be Wired	13	EA	\$224.00	\$2,912.00	\$274.77	\$3,572.01	
91	1001	Fiberglass Lamp Post	13	EA	\$1,075.00	\$13,975.00	\$1,627.60	\$21,158.80	
051-		Post Top Luminaire, Acorn Globe,							
MOD	1001	60W LED	13	EA	\$1,480.00	\$19,240.00	\$1,057.45	\$13,746.85	
051-		Post Top Luminaire, Acorn Globe,							
MOD	1001	60W LED Stock	2	EA	\$1,480.00	\$2,960.00	\$857.40	\$1,714.80	
		Conduit, 2-1/2", Trenchless							
125	1001	Installation	100	FT	\$38.00	\$3,800.00	\$51.60	\$5,160.00	
		Street Light Circuit - 3 Wire (2) #4							
190	1001	+(1) #8	248	FT	\$12.62	\$3,129.76	\$5.54	\$1,373.92	
194	1001	Trenchless 1-1/2" Cable-In Duct	1941	FT	\$11.40	\$22,127.40	\$13.67	\$26,533.47	
4	1001	Pull Box, Medium Duty, 13"x24"	4	EA	\$435.00	\$1,740.00	\$598.00	\$2,392.00	
			SUBT	OTAL:		\$81,064.16			
		CONTING	ENCY	(10%):		\$8,106.42		\$8,894.38	
		GR	AND TO	OTAL:		\$89,170.58		\$97,838.21	
		% DIFFERENCE FROM ENGINEE	R'S EST	IMATE				9.72%	
		% DIFFERENCE WITHIN LO	WEST E	BIDDER				13.62%	
		(0) Addendum Ackldg	mnt. Con	npleted?				n/a	
		Contract	Complia	nce No.	34-1606689 (5/31/18, FB			/18, FBE, 6739)	
		Bid Proposal Signature Affic	lavit Con	npleted?				yes	
Bonding Company (Form B2)					North American Specialty			an Specialty Ins.	
			osed Sub		no su				
Bid Affidavit Complete? (Form B9)								yes	
	Prime & (applicable) Subs Prequalified to Bid?						yes		
\ A A							1. Corrected Contingence		
							Grand Total. 2. Missing	surety's 3	

documents.

		,			Engineer's	s Estimate	Vaughn Industries	s, LLC (not local)	
Ref.	Item	- · · ·		T T	II. 1. D	T	TI 'A D '	T. (
No.	No.	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension	
21	1001	Foundation, Residential Post Top	13	EA	\$860.00	\$11,180.00	,	\$23,896.99	
191	1001	Pole to be Wired	13	EA	\$224.00	\$2,912.00		\$4,798.95	
91	1001	Fiberglass Lamp Post	13	EA	\$1,075.00	\$13,975.00	\$1,855.15	\$24,116.95	
051-	1001	Post Top Luminaire, Acorn Globe,	12	Ε.Δ	¢1 400 00	¢10.240.00	¢402.60	Ф. С С С С С С С С С С	
MOD	1001	60W LED	13	EA	\$1,480.00	\$19,240.00	\$483.69	\$6,287.97	
051-	1001	Post Top Luminaire, Acorn Globe,		Б.	ф1 400 00	#2 0 < 0 0 0	Φ1 61 7 7 0	Ф2 221 00	
MOD	1001	60W LED Stock	2	EA	\$1,480.00	\$2,960.00	\$1,615.50	\$3,231.00	
125	1001	Conduit, 2-1/2", Trenchless Installation	100	FT	\$38.00	¢2 900 00	\$100.14	\$10,014.00	
123	1001	Street Light Circuit - 3 Wire (2) #4	100	Г1	\$36.00	\$3,800.00	\$100.14	\$10,014.00	
190	1001	+(1) #8	248	FT	\$12.62	\$3,129.76	\$29.93	\$7,422.64	
190	1001	Trenchless 1-1/2" Cable-In Duct	1941	FT	\$12.02	\$22,127.40		\$112,869.15	
4	1001	Pull Box, Medium Duty, 13"x24"	4	EA	\$435.00	\$1,740.00		\$8,157.00	
		•	SUBT	OTAL:	·	\$81,064.16	·	\$200,794.65	
		CONTING			\$8,106.42		\$20,079.47		
			AND T	` ,		\$89,170.58		\$220,874.12	
		% DIFFERENCE FROM ENGINEE	ER'S EST	IMATE				147.70%	
		% DIFFERENCE WITHIN LO					156.50%		
		(0) Addendum Ackldg						n/a	
		Contract		•	36-4381623 (3/11/18		11/18, MAJ, 7367)		
		Bid Proposal Signature Affic				(1)	, .,,		
Bonding Company (Form B2)					Not evaluated; top 3 bidders responsive				
Proposed Subs listed?							-		
Bid Affidavit Complete? (Form B9)							nsive		
	Prime & (applicable) Subs Prequalified to Bid?								
		(11	1				1. Corrected Contin	gency, Subtotal,	
							Grand Total. 2. Bid	amounts	

unbalanced.